Down on the Farm: 2

Problem 1

Farmer Jones has a ratio of two goats
to three llamas.

He has 108 llamas.

How many goats does he have?
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Problem 2

He also has a ratio of 5:2 for pigs to sheep.
He has 96 sheep. How many pigs does he have?

Problem 3

Farmer Jones also has 24 cows.
What is the ratio of goats to cows?

Problem 4

Goats, llamas, pigs, sheep and cows are the only animals
on Farmer Jones’s farm (no chickens!).

How many animals has he got altogether?

What fraction of the total number is each kind of animal?
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